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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÁõœ÷ýÛÛ©Û ™öé …¶Ûé ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ …Û×ïõ¦øÛ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé.  
 

1. (A) ‘ÜÈÛÜÈÛµÛ Í©ÛÁõÛé…é ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé ÍÛäýÛÛéÜ›÷©Û ïõÁõÈÛà ›÷ÄõÁõà ™öé.’ ÍÛ¾Û›ÛÈÛÛé.  7 

          …¬ÛÈÛÛ  

  ‘ÈýÛæÐüÛ©¾Ûïõ Ü¶Û¨ÛÙýÛÛé ÅÛéÈÛÛ¶Ûä× ïõÛýÛÙ ¾ÛäÉïéõÅÛ ™öé.’ ÉÛÛ ¾ÛÛ¤éø ? 

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé ƒ (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (i) ´ùÜÌ¤ø …¶Ûé Ü¾ÛÉÛ¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷̈ ÛÛÈÛÛé.  

  (ii) ›÷Ü¤øÅÛ ÍÛºõÇ©ÛÛ ¸ÛÜÁõ¼ÛÇÛé …é¤øÅÛé ÉÛä× ? 

  (iii) ¾Ûä”ýÛ ¸Ûó½ÛÛÈÛ ÍÛ×ïéõ©ÛÛé …é¤øÅÛé ÉÛä× ? 

 (C) ÈýÛÛ”ýÛÛ ÅÛ”ÛÛé ƒ 3 

  (i) ÈýÛæÐüÛ©¾Ûïõ Š°éùÉÛ 

  (ii) ÈýÛæÐüÁõ˜Û¶ÛÛ 

  (iii) µÛ×µÛÛé 

 

2. (A) ¼Û›ÛÁõ ¸ÛýÛÛÙÈÛÁõ¨Û¾ÛÛ× •ÛÜ©Û¾ÛÛ¶Û ïéõ¤øÅÛÛïõ ¾ÛÐü«ÈÛ¶ÛÛ ¸ÛÜÁõ¼ÛÇÛé …¶Ûé ¸Ûó½ÛÛÈÛ ÍÛ¾Û›ÛÈÛÛé.  7 

          …¬ÛÈÛÛ  

  ¸ÛÛé¤ÙøÁõ¶Ûä× ¾ÛæÅýÛ ÍÛÛ×ïõÇ ÜÈÛÊÅÛéÌÛ¨Û ÍÛ¾Û›ÛÈÛÛé.  

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé ƒ (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (i) ”Û˜ÛÙ ¶Ûé©Ûè©ÈÛ ïéõÈÛà Áõà©Ûé ÐüÛ×ÍÛÅÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (ii) ™ö¤ø¨Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ îýÛÛÁéõ …¸Û¶ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (iii) ÜÍ¬ÛÁõ©ÛÛ ÈýÛæÐüÁõ˜Û¶ÛÛ îýÛÛÁéõ …¸Û¶ÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
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 (C) ÈýÛÛ”ýÛÛ ÅÛ”ÛÛé ƒ 3 

  (i) ÍÛ×Í¬ÛÛïõàýÛ “Û¾Û©ÛÛ  

  (ii) Í¸ÛµÛÛÙ©¾Ûïõ ïõÛýÛÙ“Û¾Û©ÛÛ (ïõÛé¾¸Ûà¤ø¶ÍÛà) 

  (iii) ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûä× ¼ÛÛÁõàïõÛˆ¬Ûà ©Û¸ÛÛÍÛ (Íïéõ¶Ûá•Û) 

 

3. (A) œ÷.ˆ. ¶ÛÈÛ ÍÛéÅÛ ¾ÛéÜ¤ÖøîÍÛ ÍÛ¾Û›ÛÈÛÛé. (GE Nine Cell Matrix) 7 

          …¬ÛÈÛÛ  

  Š²Ûé•Û¶Ûä× ÜÈÛÊÅÛéÌÛ¨Û ÍÛ¾Û›ÛÈÛÛé.  

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé ƒ (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (i) ÈýÛæÐüÛ©¾Ûïõ ¸ÛÍÛ×þù•Ûà ¸ÛóÜ’õýÛÛ¶ÛÛ ©Û¼Û‘õÛ ›÷¨ÛÛÈÛÛé.  

  (ii) •ÛÛÇÛé (•Ûȩ́ Û) ÜÈÛÊÅÛéÌÛ¨Û ïéõÈÛà Áõà©Ûé ïõÛ¾Û ïõÁéõ ™öé ? 

  (iii) ÈýÛæÐüÛ©¾Ûïõ ýÛÛé›÷¶ÛÛ …é¤øÅÛé ÉÛä× ? 

 (C) ÈýÛÛ”ýÛÛ ÅÛ”ÛÛé ƒ 3 

  (i) ÈýÛæÐüÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û 

  (ii) …ÈÛéœ÷ ¸ÛéþùÛÉÛÛé 

  (iii) ï×õ¸Û¶Ûà ÈÛÛÅÛà¸Û¨ÛÛ (¸ÛéÁéõÝ¶¤ø•Û) 

 

4. (A) ÜÈÛµÛéýÛÛ©¾Ûïõ (º×õîÉÛ¶ÛÅÛ) ýÛÛé›÷¶ÛÛ…Ûé …¶Ûé ¶ÛàÜ©Û…Ûé¶Ûà ¸ÛóïèõÜ©Û …¶Ûé ›÷ÄõÜÁõýÛÛ©Û ÍÛ¾Û›ÛÈÛÛé.  7 

          …¬ÛÈÛÛ  

  ÈýÛæÐüÛ©¾Ûïõ …×ïäõÉÛ …¶Ûé ïõÛ¾Û•ÛàÁõà …×ïäõÉÛ ÈÛ˜˜Ûé¶ÛÛ ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé ƒ (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (i) ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛóÜ’õýÛÛ¶ÛÛ× ©Û¼Û‘õÛ ›÷̈ ÛÛÈÛÛé.  

  (ii) ¾ÛéÜ¤ÖøîÍÛ ¾ÛÛÇ”ÛÛ¶ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.  

  (iii) ŠµÈÛÙ ¾ÛÛÇ”ÛÛ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  

 (C) ÈýÛÛ”ýÛÛ ÅÛ”ÛÛé ƒ 3 

  (i) ÍÛ¾ÛÛ×©ÛÁõ ÍÛäÍÛ×•Û©Û©ÛÛ 

  (ii) ÈýÛæÐüÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û …¶Ûé …×ïäõÉÛ 

  (iii) ïõÛ¾Û•ÛàÁõà …¾ÛÅÛàïõÁõ¨Û  
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5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé ƒ 14 

 (1) ©Û¾ÛÛ¾Û ÈýÛæÐüÛ©¾Ûïõ …×ïäõÉÛÛé¾ÛÛ×¬Ûà ________ ¶Ûà ¸ÛóïèõÜ©Û ˜ÛÛé‘õÍÛ ™öé, šýÛÛÁéõ ________ ¶Ûà 

¸ÛóïèõÜ©Û ÈÛµÛÛÁéõ …˜ÛÛé‘õÍÛ ™öé. (ÍÛÜÈÛÍ©ÛÛÁõ ¶Û¬Ûà) 

  (a) Ü¸Ûó¾ÛÛˆÍÛ (…ÛµÛÛÁõ) …×ïäõÉÛ, ÈýÛæÐüÛ©¾Ûïõ ÍÛÈÛëÅÛ¶ÍÛ (Ü¶ÛÁõà“Û¨Û) 

  (b) ÈýÛæÐüÛ©¾Ûïõ ÍÛÈÛëÅÛ¶ÍÛ, Ü¸Ûó¾ÛÛˆÍÛ (…ÛµÛÛÁõ) …×ïäõÉÛ 

  (c) ÈýÛæÐüÛ©¾Ûïõ ÍÛÈÛëÅÛ¶ÍÛ, ÜÈÛÜÉÛÌ¤ø ˜Ûé©ÛÈÛ¨Ûà …×ïäõÉÛ 

  (d) ÜÈÛÜÉÛÌ¤ø ˜Ûé©ÛÈÛ¨Ûà …×ïäõÉÛ, ÈýÛæÐüÛ©¾Ûïõ ÍÛÈÛëÅÛ¶ÍÛ  

 (2) šýÛÛÁéõ ¸ÛýÛÛÙÈÛÁõ¨Û ÜÍ¬ÛÁõ ÐüÛéýÛ ™öé ©ýÛÛÁéõ ÈýÛæÐüÛ©¾Ûïõ …×ïäõÉÛ ¸Û±ùÜ©Û ©ÛÁõàïéõ ________ ÅÛÛ•Ûä ¬ÛÛýÛ 
™öé, ¸Û¨Û šýÛÛÁéõ ¸ÛýÛÛÙÈÛÁõ¨Û …ÜÍ¬ÛÁõ ÐüÛéýÛ ™öé ©ýÛÛÁéõ ________ ÅÛÛ•Ûä ¬ÛÛýÛ ™öé.  

  (a) ÈýÛæÐüÛ©¾Ûïõ ÈÛé•Û (¾ÛÛé¾Ûé¶¤ø¾Û) …×ïäõÉÛ, ÈýÛæÐüÛ©¾Ûïõ ÅÛà¸Û (™öÅÛÛ×•Û) …×ïäõÉÛ  
  (b) ÈýÛæÐüÛ©¾Ûïõ ÅÛà¸Û …×ïäõÉÛ, ÈýÛæÐüÛ©¾Ûïõ ÈÛé•Û …×ïäõÉÛ 
  (c) ¾ÛÛªÛÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û, •Ûä̈ ÛÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û 
    (d) •Ûä̈ ÛÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û, ¾ÛÛªÛÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û 

 (3) ________ ïõÛé̂ ¸Û¨Û ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛóÜ’õýÛÛ¶ÛÛ ÒüþùýÛ ¸ÛÁõ ÐüÛéýÛ ™öé.  

  (a) ¾ÛÛÜÐü©Ûà ÜÍÛÍ¤ø¾Û (b) …×ïäõÉÛ ÜÍÛÍ¤ø¾Û 

  (c) ¼Û×¶Ûé ¾ÛÛÜÐü©Ûà …¶Ûé …×ïäõÉÛ ÜÍÛÍ¤ø¾Û (d) ÈýÛæÐüÁõ˜Û¶ÛÛ 

 (4) ïõÛ¾Û•ÛàÁõà …ÍÛÁõïõÛÁõïõ©ÛÛ¶ÛÛ ________ Ps ™öé.  

  (a) ¼Ûé (b) ªÛ¨Û 

  (c) ˜ÛÛÁõ (d) ÍÛÛ©Û 

 (5) ________ ¾ÛÛÇ”Ûä× ÍÛÛíé¬Ûà ÈÛµÛä ¸ÛóÛ¬ÛÜ¾Ûïõ ÍÈÛÄõ¸Û¶Ûä× ¾ÛÛÇ”Ûä× ™öé.  

  (a) Š²Ûé•Û ÍÛÛÐüÜÍÛïõ  
  (b) ÜÈÛµÛéýÛÛ©¾Ûïõ (ïõÛýÛÙ …ÛµÛÛÜÁõ©Û) 
  (c) ÜÈÛ½ÛÛ•ÛàýÛ  
  (d) ¾ÛéÜ¤ÖøîÍÛ  
 (6) ________ ÜÈÛÜÈÛµÛ ¸ÛóïõÛÁõ¶ÛÛ× ïõÛýÛÙ’õ¾ÛÛé¾ÛÛ× ¸ÛÜÁõ¨Û¾Ûé ™öé, šýÛÛÁéõ ________ ¸ÛóÛé›÷éî¤ø¶Ûà Áõ˜Û¶ÛÛ 

©ÛÁõºõ þùÛéÁõà ›ÛýÛ ™öé.  

  (a) ïõÛýÛÙ’õ¾Û, ýÛÛé›÷¶ÛÛ (b) ýÛÛé›÷¶ÛÛ, ïõÛýÛÙ’õ¾Û 

  (c) ýÛÛé›÷¶ÛÛ, ¶ÛàÜ©Û (d) ¶ÛàÜ©Û, ýÛÛé›÷¶ÛÛ 

 (7) Š²Ûé•Û ÐüÁõàºõÛˆ¶Ûà ©ÛàÈÛó©ÛÛ ¶Û‘õà ïõÁõ¶ÛÛÁõÛ ________ Í¸ÛµÛÛÙ©¾Ûïõ ¸ÛÜÁõ¼ÛÇÛé ™öé.  

  (a) ˜ÛÛÁõ (b) ¸ÛÛ×̃ Û 

  (c) ™ö (d) ÍÛÛ©Û 
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 (8) ÈýÛæÐüÛ©¾Ûïõ ¸ÛÍÛ×þù•Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ________ ©Û¼Û‘õÛ ™öé.  

  (a) ªÛ¨Û (b) ˜ÛÛÁõ 

  (c) ¸ÛÛ×̃ Û (d) ™ö 

 (9) ÜÈÛÍ©ÛÁõ¨Û ¾ÛÛ¤éø, ________ ÈýÛæÐüÁõ˜Û¶ÛÛ –Û¨ÛàÈÛÛÁõ …éïõ¾Û¶Ûà ¸ÛÐéüÅÛà ¸ÛÍÛ×þù•Ûà ÐüÛéýÛ ™öé.  

  (a) ÍÛ×ïõÅÛ¶Û  

  (b) ÈÛíéÜÈÛµýÛïõÁõ¨Û 

  (c) …éïõÛ•Ûó©ÛÛ (ïéõÜ¶®ù©Û)   

 (10) ________¾ÛÛ× …éïõ¾Û¶Ûà ÍÛ¾ÛÛ¶Û ¸ÛéþùÛÉÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û ¶ÛÈÛÛ ¼Û›ÛÁõÛé¾ÛÛ× ¬ÛÛýÛ ™öé, šýÛÛÁéõ ________ 

¾ÛÛ× ¶ÛÈÛà ¸ÛéþùÛÉÛÛé¶Ûä× ÈÛé̃ ÛÛ¨Û ÐüÛÅÛ¶ÛÛ (ÈÛ©ÛÙ¾ÛÛ¶Û) ¼Û›ÛÁõÛé¾ÛÛ× ¬ÛÛýÛ ™öé.  

  (a) ¼Û›ÛÁõ ÜÈÛïõÛÍÛ, ¸ÛéþùÛÉÛ ÜÈÛïõÛÍÛ 
  (b) ¸ÛéþùÛÉÛ ÜÈÛïõÛÍÛ, ¼Û›ÛÁõ ÜÈÛïõÛÍÛ  
  (c) ¼Û›ÛÁõ ÜÈÛïõÛÍÛ, ÈÛíéÜÈÛµýÛïõÁõ¨Û 
  (d) ÈÛíéÜÈÛµýÛïõÁõ¨Û, ¼Û›ÛÁ õÜÈÛïõÛÍÛ 

__________ 
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Instruction : All questions are compulsory and figures to right indicate marks allotted to 

each question. 

 
1. (a) “Strategies are required to be set at different levels.” Explain. 7 

                        OR 

  ‘Strategic decision-making is difficult to perform.’ Why ? 

 (b) Answer briefly : (any two) 4 

  (i) State the difference between vision and mission. 

  (ii) What are critical success factors ? 

  (iii) What are key performance indicators ? 

 (c) Define :  3 

  (i) Strategic intent 

  (ii) Strategy 

  (iii) Business 

 
2. (a) Explain some important factors and influences operating in the market 

environment. 7 

           OR 

Explain Porter’s Value Chain Analysis. 

 (b) Answer briefly : (any two) 4 

  (i) How is cost leadership achieved ? 

  (ii) When is retrenchment strategy adopted ? 

  (iii) When is stability strategy adopted ? 
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 (c) Define :  3 

  (i) Organisational capability 

  (ii) Competencies 

  (iii) Environmental scanning 

 

3. (a) Explain GE Nine cell matrix. 7 

           OR 

  Explain Industry Analysis. 

 (b) Answer briefly : (any two) 4 

  (i) State the steps in strategic choice process. 

  (ii) How gap analysis works ? 

  (iii) What is strategic plan ? 

 (c) Define :  3 

  (i) Strategic Analysis 

  (ii) Substitute Products 

  (iii) Corporate Parenting 

 
4. (a) Explain the nature and need of functional plans and policies. 7 

                         OR 

  How do strategic control and operational control differ ? 

 (b) Answer briefly : (any two) 4 

  (i) State the steps in process of evaluation. 

  (ii) State the advantages of matrix structure. 

  (iii) State the characteristics of vertical structure. 

 (c) Define :  3 

  (i) Horizontal Fit 

  (ii) Strategic evaluation and control 

  (iii) Operational Implementation 
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5. Select the right option : 14 

 (1) ________ is specific, while ________ is more generalized in nature of all 

strategic controls. 

  (a) Premise control, strategic surveillance 

  (b) Strategic surveillance, premise control 

  (c) Strategic surveillance, special alert control 

  (d) Special alert control, strategic surveillance 

 (2) ________ is applicable as technique for strategic control when the environment is 

stable while ________ is applicable when the environment is unstable. 

  (a) Strategic momentum control, strategic leap control 

  (b) Strategic leap control, strategic momentum control 

  (c) Quantitative analysis, qualitative analysis 

  (d) Qualitative analysis, quantitative analysis  

 (3) ________ is at the heart of any evaluation process.  

  (a) Information system 

  (b) Control system 

  (c) Both information and control system 

  (d) Strategy  

 (4) There are ________ Ps of operational effectiveness.  

  (a) two (b) three 

  (c) four (d) seven  

 (5) ________ structure is the most elementary form of structure. 

  (a) Entrepreneurial (b) Functional 

  (c) Divisional (d) Matrix  

 (6) ________ result in different kinds of programs while ________ lead to the 

formulation of projects. 

  (a) Programs, plans (b) Plans, programs 

  (c) Plans, policies (d) Policies, Plans  

 (7) There are ________ competitive forces that determine the intensity of industry 

competition.  

  (a) four (b) five 

  (c) six (d) seven  
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 (8) There are ________ steps in the process of strategic choice. 

  (a) three (b) four 

  (c) five (d) six  

 (9) For expansion, ________ is often the first preference strategy for a firm. 

  (a) integration  

  (b) diversification 

  (c) concentration   

 (10) ________ involves selling the same products to new markets while ________ 

involves selling new products to the same market. 

  (a) Market development, product development 

  (b) Product development, market development 

  (c) Market development, diversification 

  (d) Diversification, market development 

____________ 


